
Coqranuroe MeHp 2 teqena
7-10aer t!-!4^er L5-18ner

lauMexoeaHhe 6arcA Burxo4 KKan Burxo4 Kran lbrxoA KKan

I aexu
lvn roeqxeeuril Fra x/6 94 230 94 250 94

leqeHbe 30 11.9,56 ?n 119,56 30 119.5€

InoB h3 roBflahHbl 200 347,2 230 416,64 250 462,93

iah qepHbth c caxapoM 200 tot,2 200 to]-,2 200 to!,2
<ne6 20 76,2 ?n 114,3 40 152,4

,lToro 3a AeHb 644,L6 75L,7 836,09

2 AeHb

-yn oBoulHoh 200 58,2 230 66,93 250 72,7=

3ararcgeKoaunuri c curpom ra p/m 80 227,9 90 250,69 100 273,48

TeQreau MFcHbre c coycoM 80/20 q? o eo/40 70,o7 rco/5o 80,85

KauJa nueHilqHaF 100 LOg,2 130 toa,2 150 to8,2

iah c,/t14MoHoM 4rt,7 658,72 200 823,4

r,ne6 76,2 1t4,3 40 !52,4
hroro aa aexr 936,1 1268,9t 1511,08

3 4exu
-yn ropoxoBbr14 200 53 230 84,8 250 10€

?anat uz KanycTbr c lvropxogsp ra p/rur 80 77,2 90 88,78 L00 96,5

t(apxoe c xvpuuefi 200 t24,t 230 r.39.61 250 .tJ), J.:

taTpvuJKa c TBoporoM 50 (n{ 50 65,13 50 75,r5
(omnor ha cvxodpvrroe 200 qql 200 55,1 200 55,1

rrre6 20 76,2 30 tt4,3 40 152,4

|llttolo sa 4exu 435,7 547.72 640,28

4 aexu
SeexonuHhx Ha x/6 200 230 75,O7 250 93,83

3anat alataMrxxuril na p/rvr 80 1.05 90 120,75 100 t31.2!
{ouera pur6xan c coycoM 80/2O 274,4 90/40 30]-,84 TOOt 329,28
(aprodeauxoe nppe 100 80,5 130 to4,6s 15( 120,75

vea L0 !z) 10 ra7 1a 25C

{uceau naoAoso-sroAxuri 200 76,4 200 76,4 200 76,4

ure6 20 76,2 30 11},3 152,4

l4toro 3a reHb 793,8 980.51 1153,91

5 aexu
3yn c maxapoxHbrMr4 H3.orenun nu na x/6 200 72,2 230 830,3 250 90,25

ryno'iKa AoMaulHFt 50 106,13 trn 1^a 'l ? qn 106,13

{oTreTa KVphHaF c covcoM 80/20 66 90\40 LOOISO 99

{auJa nepnoBas 87,4 130 87,4 L50 87,4

lah qepHbil4 c caxapoM zw 32,8 200 32,8 20c 32,8

<ne6 76,2 30 Lt4,3 40 152,4

l4roro ga aexr 440.73 L256,73 567.98

ifi,oro sa 5 nrefi 3250,49 4805,57 47W,34

lrlToro cpelHrn 3a AeHb 650,098 96L,lL4 941,868

3aa. nponaao4craa:


